
Product Introduction
Installation Guide

Handlesets

Version 1.1

EH.8668  EH.8669  EH.8688

O





Contents

Product specifications -------------------------------------------------------------------------------------------------------  1

Read before use

                 adjustable deadbolt --------------------------------------------------------------------------------------------  4

              adjustable latch -----------------------------------------------------------------------------------------------  4

Install exploded view ---------------------------------------------------------------------------------------------------------  5

Installation steps --------------------------------------------------------------------------------------------------------------  6

Installation instructions EH.8668 (A) is a reference example

   Please read and understand all instructions before use:

·  The warranty does not apply if damage is caused by failure to follow these instructions.

·  Only alkaline batteries can be used, other batteries are not recommended.
·  When cleaning the product, please wipe it with a soft cloth.

·  When the battery power is low and the alarm occurs, please replace the battery in time to keep the battery power

   sufficient.

* The "electronic main control module" of this product (please refer to the basic product introduction) is dust-proof and 
water-resistant; tested under controlled laboratory conditions, its effect reaches IP65 level; dustproof and water-resis-
tant functions are not permanently effective.
Protective properties degrade due to daily wear and tear. Do not charge the smart lock (emergency power interface) 
when it is wet; damage caused by liquid entering the internal structure of the electronic lock is not covered by the 
warranty.

Notice

&23 8/ ” 3 4/2 ”

&23 8/ ” 3 4/2 ”



Front plate Back  plate

Front plate Back  plate

Read before use

Lock Cylinder
Password keyboard
swiping area

*Electronic module 

master control
Thumbpiece

Battery cover

Battery cover

Product specifications

EH.8668 (A)

EH.8668 (B)

1

Grip Handle

Grip Handle

Turnpiece

Initialize button

Battery
compartment

Knob

Initialize button

Lever

Battery
compartment

Lock Cylinder

Password keyboard
swiping area

*Electronic module 

master control
Thumbpiece

Type-C-interface

Type-C-interface

Type-C-
interface

Type-C-
interface

3  “

12”

19½”

19½”

1¼”

1¼”

3½”

3¼”

3¼”

Turnpiece

⅘”

⅘”3½”



1¼”

1¼”

2

Front plate Back  plate

Front plate Back  plate

Read before use

Battery cover

Battery cover

Product specifications

EH.8669 (A)

EH.8669 (B)

  Initialize button 

Turnpiece

Battery
compartment

Knob

Turnpiece

Initialize button

Battery
compartment

Lever

Lock Cylinder

Password keyboard
swiping area

*Electronic module 

master control
Thumbpiece

Grip Handle

Type-C-interface

Lock Cylinder
Password keyboard
swiping area

*Electronic module 

master control
Thumbpiece

Grip Handle

Type-C-interface

Type-C-
interface

Type-C-
interface

3⅛”

3⅛”

12”

12”

19⅛”

3”

19⅛”

3”

⅘”

⅘”



1¼”

1¼”

Back  plate

Turnpiece

Initialize button

Battery
compartment

Lever

3⅛”

12”

Back  plate

Initialize button 

Turnpiece

Battery
compartment

Knob

3⅛”

12”

Product specifications

EH.8688 (A)

EH.8688 (B)

3

Front plate

Front plate

Read before use

Battery cover

Battery cover

 Type-C-interface
 Grip Handle

Bottom Plate

Lock Cylinder

Password keyboard
swiping area

*Electronic module 

master control
Thumbpiece

Lock Cylinder

Password keyboard
swiping area

*Electronic module 

master control

Thumbpiece

 Type-C-interface

 Grip Handle

Bottom Plate

¾”

2¾”

17  “

17  “

12”

12”

¾”

2¾”



     adjustable deadbolt

4

Read before use

Adjustment instruction of deadbolt
When adjusting, rotate the "deadbolt"
(as the picture).

2. Can be adjusted to two backsets                 . (as above picture).
3. After selecting the backset, return to the correct position of deadbolt.

Adjustment instructions of latch
1. Can be adjusted to two installation center distances:                  .
2. When adjusting, push the "adjustable square core" forward to         (Picture 1),
and pull it backward to adjust to          (Picture 2).

Adjustable Square HubAdjustable Square Hub

Picture 1 Picture 2

1″

1

2¼″

″

2¼″

and

23 8/ ”

23 8/ ”

23 8/ ”

23 8/ ”

23 4/ ”

23 4/ ”

23 4/ ”

23 8/ ”

3 4/2 ”

3 4/2 ”

and23 8/ ” 3 4/2 ”

     adjustable latch23 8/ ” 3 4/2 ”



Install exploded view

5

Installation instructions (EH.8668 (A) is a reference example)

⑩

⑩

⑧

⑨

⑨

⑥
⑤

⑦

④

②

③①

①

⑫

⑪

⑬

Title QuantityNO.

1

2

3

4

5

6

7

Self-tapping screws

Decorative cover

4PCS  

1PC 

Latch Bolt

Deadbolt

Front plate

Tube

Spring

1PC 

1PC 

1PC 

1PC 

1PC 

NO. Title

8

9

10

11

12

M5 screw

M4 screw (long)

M4 screw (short)

Base plate assembly

Battery cover

13 Battery cover

Quantity

1PC 

2PCS

3PCS

1PC 

1PC 

1PC 



Installation instructions (EH.8668 (A) is a reference example)

Installation steps

6

Notice

Door

B
A

Deadbolt

Self-tapping
screws

Front plate

Self-tapping
screws

Latch Bolt

!
√

   

  

 1. Make holes in door "A" 
and "B" at 2-1/8", and for 
the Grip Handle bottom
 screw (per template).

Remove the battery cover

For details, please refer
to the <User manual>

M4 screw
(long)

M4 screw
(long)

M5 Screw

Decorative cover

Back Plate
assembly

Front panel
cable

!
√

Square tube
spring

Square tube

⑥⑤④

② ③①



Installation instructions (EH.8668 (A) is a reference example)

Installation steps

7

M4 screw (short))

Back plate

M4 screw (short))

Back Plate power
interface

Front plate cable Battery cover

battery

Notice

Notice

 

 
 

 

01. Please do not try to disassemble this product by yourself, otherwise you may get an electric shock or damage   
      the product.
02. Do not use hard or heavy objects to knock this product.
03. When going out, please make sure the lock is locked before leaving.
04. Please be careful not to hit the handle to avoid injury.
05. Do not use any corrosive cleaners to clean this product, such as gasoline, products which contain alcohol, or 
      other chemicals, etc., otherwise it will cause damage to the electronic circuit, product degradation, or paint 
      peeling.
06. Please change your password regularly (about three months); when your password is leaked, please change 
      your password in time; our company is not responsible for accidents caused by user negligence.
07. When using manual mode to lock, please be sure to confirm whether the door is closed and locked.
08. Do not use rechargeable batteries, only alkaline batteries are recommended.
09. Please be sure to follow the above instructions to avoid any injury or property damage.
10. The performance of this product cannot be guaranteed in special environments such as high-humidity weather 
       and the seaside.

⑧⑦

Battery installation for details, please
refer to the <User manual>






